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Question 1 the reduction in cycle time as the
| Notyet worker become familiar with o

B repetitive task is known as:

-~ Marked out of

! O a. None of the choices

¥ Flag
- Question O b. Worker efficiency

O c. worker utilization

© d. worker cycle time efficiency

O e.learning curve phenomenon



























estion20 | the following are true about

t yet Availability in worker machine
BWareg systems
irked out of

O a. all other choices are correct
Flag about the Availability
estion

o~ O b. the available time is the
actual shift time in a period
multiplied by the availability

O c.itis applicable for
mechanized or automated

equipment

O d. Availability is the proportion
of time that the equipment is
not malfunctioning or broken
down

O e. Availability is the proportion
of time the equipment is
available to run relative to
total time it could be used
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shift time in a period multiplied by the ovdil;i'bil

"bf"'-time the equipment is available to run relativo
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A total of 600 units of a certain
product must be completed in 6
days( 8 hours-shift) . The standard
time for producing each unit of the
product is 9.5 min. How many
workers will be required to complete
this production order if it is

assumed that worker efficiency

100%? workers
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